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Third Semester B.E. Degree Examination, July/August 2021

Gomputer Orgapiehtion

Time: 3 hrs. Max' Marks: l oo

. .;l

Note: Answer..an1tFtrVE full questions. ltrritrr;r

I a. With neat block diagram, explaintfue ffiiisic operational concepts. of a computer. (05 Marks)

b. Write basic performance equatjon and explain and define the ierms involved in it. (os Marks)

c. What is an Addressing mode.*ftpiain the following addre$Sidg modes with one example for
each : i) Absolute ir) Ifnrhediate iii) Indirect ""iv) Auto increment. (10 Marks)

,,, , ,,,.,,,:,:::..,r_ti

2 a. Explain Big - Endiathad.Little - Endian assig@irt. Consider a computer that has a byte

addressable memory offianized in 32 words, acco-rdihg to Little - Endian scheme. A program

reads ASCII cffiSekrs entered at a keyboard and store them in successive bye location
starting at 200fficiw how the contents,#ft.F three memory words at locations 2000, 2004

and 2008 4fter,,tliH string "VTU BELAG,#YI' has been entered. (ASCII codes : V : 56H ,

J=,'i-!.r&- ssrr , "- " =20H., B= 42H,E=45H' L= 4cH' A=41H' G:47H'

b. l;r?rg and Rz of computeffi the decimal vaffi,{20p and 4600. what tJ';HI[:
AddresslEA) of the memory op'd?#nd in each of the fu{lffining instructions?
i) Load 20'(R1), R5 ii) 

- 
Move # 3000 , R5 :'rlliffi" Store 30 (Rq"R2) , R5

iv) Add - (Rz) , Rs v) Subtract (Rr) + , Rs. (05 Nlarks)

c. Explain Logical shift a-&Rotate instruction-,,p*wrtfr'€xamples. r (10 Marks)

3 a. Explain Memory mapired I/O and I/O ruifiped VO. (06 Marks)

b. With neat diagr *xplain Centrar:g$fl,* arbitration andd,istiibuted bus arbitration.
::::

c. what is DMAiEiplain the registersiir a DMA inte$1ce [3:ilIil]
": "

4 a. Define*ffiemlpt. With exa4flfe,'explain the conc€pt of intemrpt. What are the overheads

incurred in handling interytpt? (06 Nlarks)

b. With n6at diagram, explainthe synchronous=lls transfer during an input operation.
ln

;,llr. .-^ ;' ' {.;**r, ;j - (08 Marks)

fi1ffitr* the tree 
;!ffiry. 

of USB witn;fmuus operation. (06 Marks)

5 a. Define i) ]r{gmqi$-latency ii),, ,,,ffiry Bandwidth iiD Hit - rate w) ,tt?oro.,[X,jil;

b. With a neft,iitiagrarn, explain thifllnternal organisation of a 2M x 8 dynamic memory chip.
,,::,,' (10 Marks)

c. With a neat diagrarn, expJ.#p,,:the memory hierarchy with respect to speed, size and cost.

a. With neat diagrams, explain internal structure of i) Static RAM, cell and
::::::::' :illiilr '

b. What is MemffiMapping? With neat diagram explain
i) Direct mffiurg ir) Set Associative mapping-

(06 Marks)

iD ROM cell.
(08 Marks)

(12 Marks)
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i) (-9) + (-7) u) (+ /) - (-U). k"%," - (u{ lvrar^S,

b. With neat diagram, explain 4 -bit carry - loolqpthffi adder. (08 Marks)

c. Perform multiplication for -13 and + 9. Usinn&Mi$th's Algorithm. 
=.,,.1h. 

(08 Marks)

,&
a. Design a logic circuit to perform additiffi'#&btraction of two 'n' bi"t$ihlbers X 

%h""*,

18C534

2's complement

(04 Marks)

.,. 'r&fi;:r *f (04 Marks)

b.

c.

9a.
b.

l

l0 a. With neat diagpd;tttsplain the Microprog#r_pqred Control method for design of control unita. wltn neat ongqqHb w(plam Ing rvrloropruP,ffi*IilIrtru lvulltrur lut,luuLt rur LrsDrtsrr \rr vuuLrur uurL

and write the n&ffi - routine for the instmitti$ii Branch < 0. (10 Marks)

b. Bring out the Aiif.r.n.. between Micftrogrammed control and Hard - wired control.

c:
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